SECTION A — (5 x 2 marks)

There are 5 questions in this section.

Read the questions carefully. Choose the correct answer.
Wirite its number 1, 2, 3 or 4 in the brackets provided.

1) In 34 569, the digit '3’ stands for
(1) 30 2y 300
(3) 3000 (4 30000
2)  90170is moresthan 89 170.
(1y 10 (2) 100
3) 1000 - (4) 10000

3)  Whichis NOT a multiple of 67

(1) 36 (2) 56
3y 132 (4) 264
4) Which one of the following are factors of 45?7
() 1and4 - ] (2) 4dand5
3) 4and9 4y 6and9

5)  The product of 49 and 6 when rounded off fo the nearsst ten is
() 200 ‘ @ 290

(3) 300 @) 390




SECTIONB~(6x 2 marks)

There are 5 questions in this section.

Read the questions carefully. Write your answer in th space provided.
Show ALL your workings clearly. o

| 6a) Forty-eight thousand and three written as a numeral is F

b)  In the number 35 687, the digit 5 is in the place.
7a) 89 95_1 is when rounded off to the nearest hundred.
b) List all the factors of 16.

8) A numbe'rjs 540 when rounded off to the nearest ten. The greatest possible value of

the number is




" 9) 87 x65=

10) I am a multiple of 8.
One of my factors is 5.

I am greater than 40 but less than 100.

lam | |

11} - Kelly saves $29 each month.

She can save $ F in 2 years.




SECTIONC —(2x 4 marks)

There are 2 questions in this section,

Read the questions carefully. Show all your working clearly.
Write your number sentence and statement,

12) Mark had 45 bags of marbles. In each Bag, there were 268 marbles. He then shared

them equally with 4 friends. How many m’arbles_ did each child receive?

Working



13) Lity has 2 066 red and blue beads. She has 198 more blue beads than red beads.

How 'many blue beads does she have?

Working

Have you
checked
your work?
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Q6a) 48003

Q6b) thousands

Q7a) 90000

Q7b) 1, 2, 4, 8, 16

Q8) 544

Q9) 5655

Q10)80

Q11) 696

Q12) 268 x 45 = 12060
12060/5 = 2412
Each child received 2412 marbies.

Q13) 2066 - 198 = 1868
1868/2 =934
934+ 198-= 1132
She has 1132 biue beads,
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